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ANNUATL EXAMINATION - 2024
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I Cheose the corract answers, 10 K I=F"
1. Thesumof th@dlmts of the denominatge in the sim plest form.of _2“3'-5 ,
)4 - W5 e a7 -
Lo aenaweis is acged e 242 ta gcl: 95 cEyat by 5 <y 6t @l 72
3., ¥ -%)—.4 =10°, thenxis . o ®a. B)5 . ((FE g
4. Ifthe area of a square is 36x'y?, then 1§83 Side g ... LN
Do o opEey ooy
2- (@8-b) =3andab=5then a¥ - b3 = Jeines - L
, a) 15 . Byis ; . c) e2 . dyn
. The product of LCM and HCF of two numbers is 24 If One of the musg ber is'6, then-the other
number.is .....,.. ’ PR
o E') 6 bz . C) & - . @ 8
7. Bysellinga fiower rot for Rs. 528, a woman gains 20%. ax whal price Sh:mi.d che sell it to
1 gain 25%? a)Rs. 500 - b)Rs. 650 <) Rs. 553 @ Rs. 573 '
3. If AABC ~ APQR in whrh A = b3°anﬂ Q=77 theg R IS voaens .
ay 50° b) 65° S €y 700 =T @ 800
9. Inclusive seriés isa . . series, B , :
&)} Continuous @Dss.:antmuous -~ ¢) Both ~.d)None
10, EVEIY wiiveerrnnceneenns NumMber of the Fibonacel sequence is multiple of 8.
ay2m by g6t o - 4 |
I Fill in the blanks. : : 5 ¥ 1 =5
Yy
i1. (?] ............ - . _
13.  The cross section of a solid cylmder ;- - PRI
13. A alone can do a piece’ of work in 35 days. If B is 40% more effiCIEi".\'. than A, then B w;ll ﬂmsh_
the WO In crermreeeaneunes days.
14, In any triangle ... sides are opposxte to equal angles
15, Pie chartis @ -vceeeren S graph.
- ) EX1i=5
0T TrueorFalse. .
16, f% is greater than /4
{7. Subtracting 10° from 1729 gives 9%, _ ) .
18, Linear equation in one variable has only 0n€ vaiable W[Fh power 2.
19, {-9, 0) lies on the £ - axis. :
20, Media and business people use pi® charts. : * ex1 .
¥ Malch, ' '
2. (370 - 20
.. A Cube - Ungrouped data
i- %“_ i0 - 6 faces .
. RE] i
25- Area ot g wapeziumt - 3; T SRR, N hed, |
- Bar graph - ;J(.:,i;m +i | TS BN el 19 % 2?.24
Answer the fnliow:ng {any 12)- S N Lenes
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} 26_1‘-""...:_'_11-.@ fad us of a secto” ris 21 cm and: ItS central ang{e is 120°-
29, Find the product © of 202y% 3y°z 2nd -0
of 3 cube whose S!de is (x + 1) cm

30.. Find the volume 0
3.1.-" Factorize | yi - 10y + 25
= 4r L2y
32 Solve ! 327 Pt I
33 One nu?tlﬁ@ seven tlmes another 1f thelr ,ﬁ’erence is 180ﬁ”d the numbers
34, Find th difference i C.1. and S-1:707 . 755000, 7= 49 Pa@- 0 %Veﬁfﬁ
iy A al’éne can do'it i 48 days HDW

ich number?. .
jeCE Of Woﬁ( ”I 16 day_cjﬂd

481 329 of wh
ow far :s the.

35.

36, Aand® togetﬁer can do @ e

- long will B ake to complete 112 N
g ader leans again® st a a!l at hexg‘nt o;ls feet fBom 2. groqund H

.37. AZ20 fget
. ’base of the iadder from the W

au .
=
nd the unknown sige in fOﬂOng tnangle ’
P .
un grouped frequency table which gives the rumber of
341954,31325,,,26-,14 N
HCF of 42 and 70 N

C __scm and BE = 9 cm, ﬁnd the '

' 38.
3 fodowmg data in

farnilies. 1,3,0,2,5:2,
ubtraction method, “find th

her table (Key = 47.
centroid. If AD = 12 cm, B

39. Represent th
children in 25

- 40, Using repeated 5
41, Form additive cip
42, .- ABCis @ yriangle and’ G is.its-cern

- perimeter of ABDG-
VI Answ.arthefoilowmg(any7) ¥a N _
ending and de_scer\ding order.

43. Wrrte the fo]lomng ratronal 1 pumbers in asc
5 10 20 —30’15"
44, Find the square root of 17956 by lond dl\ns:on method

ket drawing has the measu

7)(5‘35

e {1 v e

45, . AroC res as given in the'fl figure.
' Find its area.-

- 46, - Findthe volume ©
workmg 7 hours ar day,ca

f the cubo;d whose digmensions are {x + 2)(x- 1) and {x- 3) -
o-a work in 24 days, then ln how many days er 28 men

n.d

47. Tr48men
- J___wg:M\\“\g B ‘nczjurs day can complete the same work? -
A, Draw?@ ‘pie giagram to represent the followin y data ‘which shows the ex
i cultwatlon in 2acresof 'Iand R ' -9 . ' pendlture Of paddy
;’ Particulars seeds P'ougnmg wages | Fert-ill:izer L HarVESC Others
: Expenses 2000 S, L A
5. The'd 6000 i0000 . . 70@0- gopd--.- - 3800
49. e rstrlbutlon of he|ghts (e oF 100 people is gwen below E:onstruct a histogram and
the frequency polygon imposed on i
Height (in cm) 125- -135 135-145° 145 Is5 - 155- 165 _165-1-75 - 175- 18‘5 185 195
Frequency . 12 22 - 18 Ll 24 - .15 77 g,
d, ﬂndtheHCFIngzand 256, S
’alone ﬂnlshes the

for 15 days and the
o compiete- 80% 0

50. - Using repeated ‘division metho
5 days. He works it at

ys. Find the time taken, t f the work |f they Work“

51 " Acan do a work in 4

vemaining-work in 24-da
nmeter of the

-together. -
52 ;rhe tength of a rectangu!ar field exceeds its breadth by 9 meters If the Pe
ield is 154 cm., find the ‘length and: breadth of the fIE|d 3
2 X 8 = 15

_"_g : -g‘“swer all the questrons :
e A‘én-”tl'uct a quadrilateral with AB =5 cm_. B
. Conséuz cm.sAlso find its: area. (OR)

ct a square LAMP of side 4cm- Also Fnd its area.

\ .ﬁ’r’?hihg% equationy'= X + 1. (OR)
o oints p(S, 3} Q ( -3 3} R ( 3, 4) and S form a rectangie,

c 45cm,CD 38cm,DA 44Cm
= .' J' f_-

the
then ﬁnd coc;smgte of 5
e ager
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